PROCESSOR TECHNOLOGY CORPORATION

Sol CABINET-CHASSIS SECTION VI

Table 6-2. So0l-20 Cabinet-Chassis Parts List.

The Sol-20 Cabinet-Chassis Kit includes all Sol-10 parts listed in
Table 6-1 plus the following items:

12

Sol-BPB Circuit Board (Backplane Board)
3" 5-wire Cable with Molex Connector
100-pin Edge Connector, VIKING 3KH50/90V5
100-pin Edge Connector, TI H322150
Right Angle Backplane Bracket

Gusset Bracket, Left

Gusset Bracket, Right

Plastic Card Guide

4-40 x 5/16 Screw, Machine

4-40 x 5/8 Screw, Machine

4-40 Hex Nut

#4 Lockwasher, Internal Tooth -

6-32 x % Screw, Machine

6-32 Hex Nut

#6 Lockwasher, Internal Tooth

#6 x 4% Screw, Sheet Metal

Rev A

VI-—3



